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PART A: Structure
Directions; Choose the word or phrase (1}, (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  The doctors were not sure whether the blood clot on Henry’s lung was autochthonous or
whether it had traveled through the bloodstream --—--ee-—- there,
1) by lodging 2) and lodged
3) or whether lodged 4) could have lodecd
2- Anyone --—---—--—-- needs help in understanding the unwritten rules, the protocol of that land.
1) doing business in a [oreign couniry 2) in a loreign country o do
3) in a foreign country where they do 4) does business 1n a foreign country and
3-  Stephen is a brilliant man, a highly-skilled chemist, but in the workplace he’s a bit of a
churl, -----—-—-—-- yvou know you’re slowing him down.
1) lets not hesitantly 2) not hesitantly he lets
3) letling, and not hesitant. 4) not hesitant 1o let
4 -, Olivia glanced furtively at her neighbor’s paper and was immediately canght
by the teacher and accused of cheating.
1Y Being alraid of being fatled in the history test
2) To [ail the history test and being alraid
3) Alraid that she would Lail the history test
4) Having failed the history test and be afraid
3-  You don’t have to look at me as if T were the devil incarnate --------—-- your dict long
enough to have a bite of my birthday cake.
1) when suggesting Lo yvou that go oll 2) suggesling Lo you go ol
3) should T suggest for you going off 4) when T suggest going off
6-  'This verb can mean “to make greater,” buf today it’s almost always used to refer (0 ———-——
greater by exaggerating or by belittling others.
1)y somcone’s making himsell scem
2) somcone by making themsclves seem
3) making someone who seems themselves
4) someone make themselves seem

7-  The phrase “head of the family™ that one¢ -------—-- has now become merely titular and is
probably on its way to nonexistence,
1) so powerlul was in mcaning 2) was so powerful in meaning thal
3) had such powerlul meaning 4) with such a powerlul meaning which
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8- Writer Tom Wolfe captured in his book The Efecfric Kool-Aid Acid Test the antics of Ken
Kesey, ---—--—-- , who traveled crossU country with friends who c¢alled themselves the Merry

Pranksters.
1) in 1960s was a well-known author
2) who was a well-known authoer in the 19605
3) well-known author of the 1960s
4) being a well-known author of the 1960 and
9-  Those people surveyed whoe had never had any siblings or who said that at college age
they were emotionally distant from their siblings -------—--- at 65 than were those who had
been close to at least one brother or sister,
1) were emotionally less well adjusted
2y whose adjustment was less cmotional
3) and they were less well adjusted emotionally
4) they cmotionally were less well adjusted
1}-  Many pharmaccutical and cosmetics companics have reduced their use of laboratory animals,

1} thereby substituted alternative methods of product testing in their place
2) substituting in their place alternative methods ol product icsting

3) 1in their place they substituiing aliernative methods ol product testing
4) with produci esting in their place subsiiluling alternative methods

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correet choice on your answer sheet.

11- Humans like watching dogs open doors with their paws _as though they had

hands_because we like tg ---——-——- animals.
1) anathematize 2) anthropomorphize
3) bemire 4) bloviate

12- DPeople who have inherited wealth regard people whose wealth derives from their own
endeavors a8 -—--—--—-- z
1) arrivistes 2) hypermodernists 3] silviculturists 4y impressionists

13- AHred Hitcheonck never reecived an Oscar despite his undisputed place amongst the
—--—--——-- of film dircctors.

[} addendum 2) dignitary 3) mischance 4) pantheon

14- People who relocate frequently can feel --—---—-- , always pulling up stakes and never
putting down roots.
1} deracinated 2) diffused 3) occluded 4) polarized

15- She spoke little and, when she did, was --—---—--—-, uttering such aphorisms as *No use
eryving over spilt milk.”
1) prescient 2) caliginous 3) scnlentlious 4) conlcssional

16- Portable CI) players have fallen intg ---------- since the advent of the MP3 player,
1) dubiety 2) duende 3) demarche 4) desuetude

17- The baseball star claimed he had never taken stereids and insisted the accusation was an
attempt by an angry reporter to ---------- his name.
1) inculpate 2) demoralize 3) besmirch 4y skirt
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18- There are lots of ———-—-- sweeteners available, but nothing is quite as sweet as sugar;
they are all poor substitutes.
Iy numinous 2) crsatz 3) protcan 4) oppugnant
19- The facilitator made the effort of running a workshop look ---—------- , although it was very
demanding.
1) facile 2) omnifarious 3) retroactive 4) quiescent
20- That uscd car salcsman turned out to be a bit of a mountchank; his dashing flatiery
faded when I realized the car I bought was a --——-—-—-,
1) lemon 2) peach 3) grapevine 4) plum
21- According to the ------—-- issued by the government, all citizens must pay taxes to the
national government.
1) dictumn 2) edict 3) tenet 4) maxim
22- God has showered His --——--—-— upon our motherland. Qur country is blessed with

immense natural wealth, with mountains and plains and forests and rivers and oceans
and snow and sun.

1) vendettas 2) auguries 3) flummeries 4) benisons

23- The decor of the hotel was -—--—-—--; it sereamed “five-star’ from the moment you stepped
inte the lobby.
1) idvllic 2) sumpluous 3) scll-cllacing 4y auspicious

24- My parents coming to stay with me this weekend are totally going to -—=-e--——- my
style. When am 1 supposed to get anything done?
1} cloak 2) clip 3) cramp 4) crack

25- It is vicious cycele because the more industrially active a nation becomes, the greater the
demand for harvesting of natural resources. For some, the environmental issues, though

they can hardly be ignored, arc viewed as a ---------- concern,
1) peripheral 2) vexatious 3) prohibitive 4) unqualified

26- If vou shout, “Help!” vou have uttered a/an ---------- sentence; you did not need to say, “1
need help!”
1) inconscquential — 2) sonorous 3) ncbulous 47 clliptical

27-  Dr. Lester’s imparting of cthical instruction was always -----—--- by his sensc of humor,
which thus allcviated any potential sensc of “ho-hum™ on the part of his students.
1) abraded 2) leavened 3) disfigured 4) quashed

28- Dr. Idzal, faculty advisor for the yearbhook, sees right through ---------- students who
think insincere compliments are the read to the position of editor-in-chict.
1) somnolent 2) smarimy 3) sanctimonious 4} sardonic

29- *Don’t be 50 -—--—--—-- o advised the Millers® stockbroker. “It’s foolish to puc all of your

maoney in high-tech stocks because they are popular right now. You’ve got to think
about which industrics will be snecessful in the yvears to come,”

I) myopic 2) benign 3) scrappy 4) craven

30- M.J and McKenzie were the leading scapegraces of the playground in the park; their
maothers often had to extricate them from ---—--—-- over whaose turn it was at the swings
or who had the right to the last cookie,
1) discursions 2) aberrations 3) tussles 4) decovs
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PART C: Cloze Massage

Directions: Read the following passage and decide which choice (1), (2}, (3), or (4) best fits
each blank. Then mark the correct choice on your answer sheet.

While there will always be a minority of poachers motivated by their innate cruelty and
greed, it is probably [air 1o say that the vast majorily are caught up in this awiul activily out
ol ¢cconomic (31) -------——-. Similarly, in developing countrics where overpopulalion 1s
becoming increasingly problematic, and as communities push oul [urther and [urther inlo
the wilderness to find a place to live, (32) -————nm-- on the habitat ot wild and dangerous
animals more and more. ‘There is bound to be increased contact between and conflict with
natural predators and wild animals that would not (33) —--—-—--—— be in the line of fire, and
this is another cause (34) =m=mmmm=mn . When it is a straight choice between survival and an
environmental conscience, the former wins oul every lime, and instinel as well as their sense
ol responsibilily (o their lamilics will compel [armers and community leaders 1o hunt and
kill dangerous predators {35) ----——-— around their villages in the night, and herds of
glephants capable of stampeding their way through (36) --—------ . Moreover, many of these
communities lead an agrarian lifestyle. and when their livestock — and so. by implication,
their livelihood_is threatened by predation. this will also inevitably compel them to act to
{37) ~mmmmmm the threai. And there are other considerations, too; alier all, livestock needs a
place o grarze and land is also required lor the cultivation of crops. And (38) ——---mmm-- , Lhe
only logical solution is 1o claim more ol the land [or agricullural purposes. This leads Lo
trees being cut down. and (39} -—-——-- the stability of the soil. Precious nutrients are
quickly washed away and the land becomes more and more arid, contributing to another of
the dangerous climate-related phenomena; that of desertification. Indeed, deforestation and
the expansion of the deserts go hand-in-hand. Not alonc are larmers claiming more of the
land for themsclves then, vast swathes of habilal are being (40) ————m - o the advancing
desert. For many wild animals, their entire ecosystem is being destroyved, putting their long-
term survival in extreme doubt.

2) vanity 3) nceessily 4) diversity
2) only 1o encroach
4) by ¢ncroaching

3) likewisc

31- 1) leeundity

32- 1) their enerpaching
3) they are encroaching

33- 1) otherwisc 2) though

4yasil

34- 1) with their number diminishing 2) of their diminishing numbers
3) their numbers are diminishing 4) i dimimnishing their numbers
35- 1) diverging 2) winnowing 3) conllating 4) prowling
36- 1) and wholc towns Juticned 2) Natiening whole towns
3) by atlening the whole towns 4) and [laltening whole towns
37- 1l)pose 2) forbear 3) nullify 4y shun

38- 1) an ever-expanding number of mouths to feed with

2) there are an ever-expanding number of mouths to feed
3) due 1o an ever-expanding numbcer ol mouths (o [ed by
4y with an ever-expanding number of mouths o feed

1) compromises 2) allays 3) deluges

1) imputed 2) ceded 3) reverted

39
40

4) infests
4) expatriated
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PART D: Reading Comprehension

Directions: Read the following three passages and decide which choice (1), (2}, (3), or (4) best
answers each question. Then mark the correct choice on your answer sheet.

PASSAGE 1:

Although an overhaul ol work conditions and culture is needed o address the risc in
pcople cxpericneing burnout, there are still many things we ¢an do oursclves (o deal with
it now. The most significant way we can prevent burnout is recovery.

Burnout 15 a consequence of chronic work stress over extended periods of time. It
has three componcnts; cmotional ¢xhaustion; cvnicism or detachment; a loss of
salisiaction in on¢’s work, Dealing with burnout is aboul recovering well rom work,
rather than locusing on being more productive or beller al the work itsclll Rescarch
continues to show how unportant it is to recover from work on a daily basis. Recovery
means finding tume or space for vourselt where you don’t engage in things that are work-
related or stressful. Recovery is about bringing physiological responses. such as cortisol {a
key stress hormone). back down to baseline levels. Proper recovery helps vou teel more
cnergetic and cnthusiastic 1o (ace another day al work., Recovery can take place both
during the workday (internal recovery ) and outside of work {external recovery).

Internal recovery is about giving ourselves relief from stress by using short periods of
time during work to reduce our body’s stress responses. 'This can include taking short
breaks. domng breathing exercises, or switching tasks when vou're feeling mentally or
physically exhausied. So, il you have a [ow minules spare at work between tasks or
meelings, you may be better ol trving to relax rather than checking your cmails and
CAPCTICICING NCW SIICSSOrS.

After work. we have the opportunity for external recovery. These are things we do
outside of work to help relieve stress. Instead of keeping on top of work and emails,
cxternal recovery may include doing any activitics you cnjoy. These might include
walching TV, rcading, or socializing_as long as these activiticy don’t encourage you (o
think {and stress) more about work.

The kev to good recovery 1s choosing activities based on how they make vou feel. If
social media creates negative feelings, don’t check it during vour work breaks or after
work, If socializing with certain people makes vou feel drained, this isn’t going to help
¥OU ICCOVEL,

41-  Which of the following best represents the main topic of the passage?
[} A key term and its contrasting interpretations
2) A complication and the way forward to tackle it
3) A universal adversily but local remedics
4y A general approach 1o deal with a matter ol concern
42-  What is the main tunction of paragraph 17
1) T'o arouse curiosity 2) 'lo issue a warning
3) T'o present the topic 4) l'o provide background information
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43-  Which of the following can be inferred about burnout from paragraph 27
1) How to handle it should be part of our daily regime.
2) You can trace its gencsis back to cortisol,
3) A productive emplovee may show no sign ol i,
4) It surc exists but its construct validity is vel 1o be proved.
44- The author of the passage is least likely to agree with which of the following statements?
1) Burnout tends to emerge after a contracted period of time.
2) Stopping one task to begin a new one at work can help combat burnout.
3) One anti-burnout strategy working for one person may not be effective for another.
4) Unlortunately all work-rclated tasks induce stress in people, with the only
dilference being the degree ol stress that they causc,
45-  According to the passage, such activitics as watching TV, reading, or socializing
(paragraph 4) arc those which —----——-- y
1) people might relish
2} induce pleasure in almost all people
3) may be counterproductive [or most people
4) people should integrate into each single day in their life
46- Which of the following is the hasis of the classification of the two recovery types
discnssed in the passage?
l) effectiveness
2) time ol oceurrence
3) place ol occurrence
4) the extent to which they give people pleasure
47-  Why has the anthor referred to “social media” in the last paragraph?
1) To support an earlier assertion
2) Tounveil its actual drawbacks
3) To shed light on the correlation between social media and negative [eelings
4) To compare and contrast its recovery clleets with those ol socializing with certain people
48-  Which of the following best deseribes the author's genceral attitude towards socializing

with pcople?

1) Disapproval 2) Indifference

3) Conditional acceplanc 4) Distrust and apprchension
PASSAGE 2:

‘There has been a general trend toward increased size in organisms during the course of
cvolution. This ¢an be seen in the Tacl that the largest animals and plants are the most
recent. so that the upper size limits have been slowly increasing over the last three
billion years. Nonetheless. increases in size can produce problems that censtrain
further size increase.

(ne set of constraints on large size involves specialization and changing ecclogical
conditions. Saving that an organism is specialized means that it occupicy a highly
gpecilic environment, Tor example, the African clephant, because ol its greal size,
must consume large quantitics ol vegetation. It also grows slowly and usually has only
one offspring at a time. and the time span between one generation and the next is about
ten years. This means that provided there 1s a sufficient amount of food available over
long periads of time. a population of African elephants will prosper.
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But suppose there was an extremely long dry period that caused extensive
destruction of plants. Under such circumstances, the elephant population would be
greatly reduced. and, because of the slow rate of reproduction. it would take many
vears [or the population to recover. In contrast, under the same stress a small animal
would not be as threatened. Tor example, an Alrican [icld mousc needs only a small
amount ol grass 1o survive, When lavorable weather returns, it can multiply rapidly
because it has a short generation span and large litters. Hence it can repopulate quickly
when food plants reappear. In other words, there is resilience in small animals in
fluctuating environments that the large ones lack.

It 1s presumed that this inability ol large animals (0 adapt Lo stresslul ccological
conditions 1s a rcason that dinosaurs disappearced at the end of the Cretaccous period
(aboul 60 million years ago) and that woolly mammaoths disappeared [ollowing the ice
ages. While large size has many immediate adaptive advantages, if one thinks in terms
ol geological time and the greater course ol evolution, 1t ig ¢lcar that small size is 1oss
risky and ultimately more successful.

49-  What is the main idea of the passage?
1) In stable environments, all animals wend o increase in sive, butl small ones inercasc
at a more variable rate than do large ones.
2} Animals that increase in size when conditions are stable are likely to survive during
periods ol ceological change.
3) Animals that have rapd rates of reproduction tend to increase in size over long periods.
4) Because they can adapt o ecological siress, small animals succeed betlter than large
ones over long periods.
50- Which of the following statements represents the evolutionary trend described in the
first paragraph?
1) Both plants and animals have been inercasing in size over the last three billion yvears.
2) After reaching their maximum size about three billion years ago, the largest animals
have begun to decline in number.
3) Animals have increased in size more slowly than plants in the last three billion vcars.
4) Organisms have recently begun to increase in size at a faster rate,
51-  According to the second paragraph, the African elephant is an example of a specialized
organism because ------—-,
1) it requires a particular enviromment with a large amount of vegetation
2} it has evolved specific ways to adapt to environmental changes
3) it can survive in both stable and unsiable environments
4) it can succeed best when it has access to a wide variety of food

52-  The “*same stress” mentioned by the anthor in paragraph 3 most probably refers to a ===mam—--- :
1) threat to small animals 2) need of a small amonnt of grass
3) long dry period 4y slow rale of reproduction

53- What is the purpose of the first sentence of the fourth paragraph?
1) To provide an answer 1o the question raised near the beginning ol the passage
2) To identify the time periods when major ecological changes occurred
3) T'o offer additional ecxamples that support the main idea of the passage
4) To provide examples that contradict those given garlier in the passage
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54- It can be inferred from the passage that the size of African elephants -----—--—-,

1) will probably not become greater than it is today

2) allows clephants to slow their rate of reproduction during periods of little food

3) allows elephants to adapt to different envirommnents by dominating those environments

4} has resulted in greater variation in elephant diets

In the third paragraph, why does the author discuss the African field mouse?

1} To illustrate how sensitive small animals are to changes in weather

2) To support the claim that a small animal can recover Irom cnvironmental siress
better than a large animal can

3) Toidentily a small animal whose population deercases during dry periods

4) To emphasize that grass is an important food source among small animals during
periods of environmental stress

tn
l:in

PASSAGE 3:

Students” questions play a crucial role in the learning process since “questioning lies at the
heart of scientific inquiry and meaningful learning™ (Chin et al., 2002, p. 521). As Dillon
(1988) has stated: “No other event better portends learning than a question arising to the
mind.” The value of students’ questions in science learning has been emphasized by
several authors (Tor cxample, Pedrosa de Jesus, 1991; Shodell, 1995; Watls ¢t al., 1997).

A series ol studics place the responsibility of questioning onto students rather than their
teachers, and indicate that this benelits student learning (King, 1994; Pedrosa de Jesus ci
al., 2003). Student-generated questions play a significant role in motivating meaningful
learning and can serve different functions within this. For example, these functions can
include confirmation of expectations, answers to unexpected puzzles, and filling
a recognized knowledge gap (Biddulph and Osborne, 1982). The questions that learncrs
ask arc also Indicative ol their need for resolution i their thinking, [or understanding
within the domains in which they are working and studving, and for some degree of
interaction with both teachers {(Pedrosa de Jesus et al., 2003) and other students within
sessions (Lillon, 1988). Student questioning, particularly at the higher cognitive levels, is
also an cssential aspect of problem solving (Chin and Chia, 2004 ).

Besides helping swudents learn, student questioning can also guide 1cachery in their
work., Some rescarchers (Crawlord ¢l al., 2000) have explored the polential lor using
students’ questions o influcnce the curriculum. Some questions indicale that students
have been thinking about the ideas presented and have been rving o extend and link
these with other things they already know. (Juestions can also reveal much about the
quality ol students’ thinking and conceplual understanding (Walls ¢t al., 1997), their
allernative [rameworks and conlusion aboul various concepls {Maskill and Pedrosa de
Jesus, 1997), their reasoning (Donaldson, 1978) and what it is (hey want 0 know
Elstgeest, 1985).

36- What part of an experimental research article does the passage most probably belong to?

1) Abstiract 2) Introduction
3) Method 4) Data Analysis
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The stutement quoted from Dillon (1988) in paragraph 1 is closest in meaning to which

of the following?

1) By analyzing questions. teachers can read students’ minds more realistically.

2) The learning proccss seems (o have reached its final stage when it comes complele
with the students”™ questions.

3) Students ask questions if they wish to make sure whether they have learned the
content being presented.

4) The guestions that students ask can be taken as a sign that student learning is
actually in progress.

Which of the following words best deseribes the function of paragraph 3 in relatien to

paragraph 2?

1) Expansion 2) Modification 3) Reiteration 4} Reconsideration
The word *“this™ in paragraph 2 refers to ----—--——-,

1) teacher-induced questions 2) student motivation

3) meaningful learning 4) student questioning

The passage mentions all of the following as functions that student questions serve
EXCEPT that they ---—-—--

1) are instrumental in problem solving

2) help students [l recognized knowledge gaps

3) shed light on students™ conceptual understanding

4) make students restructure what they already know

H S U u*f’i.ﬂ'“-?f] i b

LINGUISTICS:

What can be regarded as a strong piece of evidence for substantiating Universal Grammar?

1) Adult langvage learning 2) Multilingualism

3) Child language lcarning 4) Bilingualism

The event-related brain potential (ERP) is mostly related fo deiceting neuronal activities

during --—------- -

1) language comprehension 2) language production

3) language learning 4) code-switching

What perspective does the following sentence show about the origin of language?

“All the evidence suggests that it is the precise wiring of the brain’s microcircuitry that

makes language happen, not gross size, shape, or neuron packing.”

1) The divine source 2) 'T'he natural sound source

3) The language imstinct source 4) The physical adaptation source

Which statement is true about sign languages?

1) British Sign T.anguage is somewhai similar to American Sign Language.

2) British Sign Language and French Sign Language have ne similar aspects.

3) British Sign Language and French Sign Language have some similar aspects.

4y British Sign [anguage, American Sign Language, and U'rench Sign [Language arc
similar.

Which one is a speculative theory that human language originated from emotional

exclamations of pain, pleasure, surprise, ete?

1) The bow-wow theory 2) The la-la theory

3) The yo-he-ho theory 4) The pooh-pooh theory

0L slagse3l saais colus
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7 3 37 3 67 1 97 2 127 1 157 1
8 3 38 4 68 2 98 3 128 3 158 3
9 1 39 1 69 4 99 2 129 2 159 4
10 2 40 2 70 2 100 1 130 4 160 4
11 2 41 4 71 4 101 3 131 4 161 4
12 1 42 3 72 1 102 4 132 3 162 1
13 4 43 1 73 3 103 1 133 1 163 3
14 1 44 2 74 2 104 3 134 3 164 2
15 3 45 1 75 1 105 3 135 2 165 4
16 4 46 3 76 4 106 2 136 2 166 3
17 3 47 1 77 4 107 1 137 3 167 1
18 2 48 3 78 2 108 4 138 1 168 2
19 1 49 4 79 1 109 1 139 4 169 3
20 1 50 1 a0 2 110 1 140 1 170 1
21 2 51 1 81 3 111 1 141 2 171 2
2 4 52 3 82 4 112 3 142 4 172 4
2 2 3 83 4 113 2 143 1 173 4
24 3 54 1 24 3 114 4 144 3 174 3
25 1 55 2 85 1 115 2 145 2 175 2
26 4 56 2 86 2 116 4 146 3 176 3
27 2 57 4 87 2 117 2 147 4 177 4
L, 280 Rl eyl Ly L Ly LB gy 2 G ) LT T G|
ST O (17 G D 25 89 GI|EHE T 4 149 1 1790 = ST U
30 3 60 4 90 2 120 3 150 3 180 1






